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POLITICAL SCIENCE
UL
PAPER-II
WaAYA-I1

Note :— This paper contaifis fifty (50) multiple-choice questions, each carrymg two

(2) marks. Attempt all the questions.

Al A uadl g WAL (W0) aglasedly uadl . edseu Q (2) ya 8.

1.

olul % Hasiedl oaiel Uyl
In List I, you will find certain concepts and in List II names associated

with these concepts. Select the correct matching pair by using codes given
below :

List I ’ List II

(a) Concept of hegemony (1) V. Lenin
(b) Party as Vanguard of (2) K. Marx

Proletariat ' (3 H. Marcuse
(¢ Alienation ' (4) A. Gramsci
(d) One-dimensional man
Codes : A _

' (@) (b) . © (d)
(A) 4) D 2) 3)
B) @ - 3 €] )
© @) (1) ) 2
D) [¢)) 2 4) 3

nud weldl, di dedls [quqm‘t*u Gedyl 9dal AW xR ol WML 20
EISTEETEN] euel AsiAcL hdzstvu Ay A, (14 zsmleu sisHl Guyia $30A
waHy A oflw yidld Aaq)

el 10 el 11

(a) adxa-l @Qeuqrt 1 . aR-
®) AHDBliAL A A3 yal @ 3. sl
(© dduq @ YA, UE
@ A5 ¥ WRAwA 4adi m-tc[l _ @ . wHAl
5ls .

(@) L)) © @
Aa) -4 @® 12 3
B - 2 3) @ - O
© 3) o @ @)
D) ® (2 (4 3
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In List I, some elements of medieval political thought are mentioned. In List II,

thinkers associated with them are mentioned. Match the correct pair by using .

the codes given below the two lists :

List T List 11
(a) Marsilus of Padua (1) Doctrine of Two Swords
(b) Thomas Acquinas (2) Concept of Sinful, irrational,
(c) St. Augustine selfish and ignorant man
(d) Pope Gelasius (3) Priesthood must be subject to

people and its elected government
even in spiritual affairs

(4) State was natural rather than
consequence of man’s sin

. Codes :
(a) () © ()
(A) ¢ 2 . (3) 4)
(B) 2 3 (€)) ).
© 4 @) ) 3
D) 3 4 (1

' (2) ~ ) . ~ .'\ . ~
yer AL Heaalint 2orld RARIA ddtd) Sedis dedlil Gealnt s e
Q. Wl Wi 2L el WA Asday Ridsi-i Gedv sul 8. & welwi-l 12
Al sisel Guaiol s Hay wsl oflw weld Jaal

el 1 ' .. wel i
(@ WRlaA 2 ugil 1) A dadi-l Rsid
(b) AU ABa-n @ wdl, s, 2audl 2 sl
| . wiet Ll Reuasty R}
(© d2 AaRen @ wuoals snotdini v el
| disl 2 -l %atic{l ARSI
. | AR dd AdA .
@ Wiy AR @ xarll Geuld Hgrarit wun dlé
| Cuf All, uat A gedl e ©
sis :
(a) (b) (©) (d)
(A) (1) . @) (3) (4)
(B) (2) (3 1) (4)
© @G- @ (2) (3)
D) 3) 4) @) (1)

How many social classes were recommended by Plato in his ‘Ideal
State’ ? '

(A). One | . @® Six

(Q) \Four\ ; (D);.,...Tln'ee N ‘
| xcia{tl:%? Wdirl Yads ‘vueed wen’ A s2al aeulys aoldl eama
53¢l 7 | )

A) s . @B B

©) AR ’ D) A9
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4. Which is the most acceptable theory of the origin of the state ?

(A) Divine Rights (B) Force Theory
(C) Evolutionary theor . (D) Social Contract Theory
AL Gema i3 sl zﬂeﬂ ay dlgd Rsid & ?
@) tdl essi B) o Rigid
(©) Gosilarl Rgid @ wAabrs s Rgid
5. - Which group of thinkers developed agamst the absolute sovereignty of the
state ?
(A) Pluralist (B) Liberalism
(C) Authoritarianism (D) Communitarianism
AL ouBd Aol A suL wsR-U QRSN uert s B ¢
Q) ogadl (B) Gelrudale
© silBsiae ) wulrsae
6.  ‘State is a march of God on the Earth.’ Who said this ?
(A) Hobbes . (B) dohn Dewey
(C) Hegal (D) Bentham
P Byl W Srarell U B A A 5§ ed
Q) o (B) et SY;
| ©) &aq D) oy
7. Who said slavery is natural and necessary ?
(A) Plato ~ (B) Socrates
(C) Aristotle (D) St Augustme
el é&?.cﬂ A 33 B, Ag 59 5§ 8¢
A) ael (B) Ul [22{
© Rzeled O de iaRe
8. Greatest happiness of greatest number is the idea of :
' * (A) Marxism (B) Liberalism
©) Conservatlsm : M) Utilitarianism
agil agy disl w2 agul ag yuyle, A A4 R edl ?
Aa) usdale (B) Gelyxddle
© 3RAdae “ @) GuuiBidiaue
9. Who is the author of the book ‘Modern State’ ?
(A) Lord Bryce (B) Harold Laski
(C) R. M. Mclver _ (D) Charles Taylor
‘GUYMs AP B Yosu Avs G- sl ?
Q) dAS susu - (B) &RUes A4l
(C) U3, As15AR D) WK 25ar

PolSe—T - - 5 | | PTO.



-10.

11.

12.

Conmder the followmg statements about Hobbes’ perceptmn of state. Which
one of them is correct ? .

(A) State is an evil and must be destroyed. :

(B) State is the highest embodiment of human freedom

(C) State is a necessary evil, an instrument to defend men against savage
instincts. ‘

(D) State is an instrument of exploitation by one class over another

Slopsrl o [QN-L v Wi v{lx£v1t [a.tuvu cnum aau-u sy Al 9 7

@A) UPL A AR B 2w WA QR 323

B) A A WAl audsug adla zqau 3]

S (C) e 3 vaws vk 9, ¥ wdlHl wadl 9l zuﬁ wieidlly 2@

sal WAdd wan B

@) U A A5 adld oflon @l wvw sl w2 wat 8

The term ‘electorate’ means :

(A) areas in which state is divided for purposes of elections

(B) the whole body of people- who are elected by people as then' represen-
tatives to govern the state

(C) the body of citizens who elect those who govern

D) various methods of electlon to elect representatives
HdelisaAL e B :
@A) eell w2 o ARY wqRewlML [aouor-

(B) 37 skt jelal MARRIHL e ¥ ArAg dAuar 53 @

(C) ABYAL WASIA e ARSIl wﬁ

@) wRRIA e srarl Yol Al yglail

Which of the criticisms of federal government are valid ? Give your answer
by using codes given below these statements ?

(1) Decisions in it are complex and time-consuming

2 It produces conflicts between central and state governments
(3) It is an expensive form of government

(4) It.provides no opportunity for expression of diversities
Codes : ‘

(A) 1 and 2 (B) 3 and 4
(C)12and3 : 2, 3 and 4

Auadst il (A uv?leu Asiviinidl 36 Wl B ?

@ Qi el Qadl yBa dgd i wna 4 adl B

@ i Iv AB WA UYL USIRL 4 Al Wy @

@ A wyln AR S |

@ dui AR@A aisa sl ds wadl «dd)

8s ,
A) 127 2 | B) 3 v 4
© 1,213 @) 2, 3% 4

Pol. Sc-—-I[ 6



13.

In unitary form of government sovereignty lies with :

(A) Central Government (B) Regional authorities

(C) Local Government (M) Central and Local Government
Ascofl w5131 wdoduca sui 3 © ? . :
A) I qSRAL | ®) wells wsiini

(€) wAs usud D) 3w i QRS ASRAM

In (A) and (R) are made two statements. State whether they are true or false
and whether (R) is the reason or justification for assertion (A) by using the °
codes given below the statements : ‘ ' o
(A) In Parliamentary form of government the position of parliament has
declined in importance ‘
(R) In Parliamentary form of government, the position of head of state, -
whether a Monsrch or President has declined in importance.
Codes : ' : '
(A) Both (A) and (R) are correct and (R) is.reason or justification for (A)
(B) Both (A) and (R) are correct but (R) is not the reason for (A) '
(C) (A) is correct but (R) is false . :
D) (R) is correct but (A) is false L. ..
A) 2 R) A1 A Rl 02 20040 3. (A) 2 ®) Wi § 3 vilai B
AL 211 (R) A (A) W2 512234 B A [Qauri-ll 2 2ular sis-l Guyial
534 wual
(A) AUEI AUl U541 Aued Hec w2y B,
(R) e 13U AS41 L ast (uedl'd 2 €1 3 wgni) -« Rerr
Heed MY 9, | :
sis : -
@A) (A) 21 (R) 6l WAL Q AU (R) A (A) W2+ 5122 B
(B) (A) A (R) 4l WAL B U (A), (R) 12 512 ~Aell
© AWy 8w R) v

O R)AY B A (A) Mg D

15.

Pol. Sc

Consider the following statements about Power, Authority and Legitimacy.
Which of them is not correct ? '

(A) Authority is a broader notion than power

~ (B) Power is capacity to act, Authority provides right to do so

(C) Relations of Authority are hierarchical
(D) Legitimacy and Legality are same ‘

-

Arll, AUAUH (Authority) WA disedlsl 2idel 1A 2uAai Rt dwril.
Wil sy (Qair 2wy ol ? , | o |
Q) WAUAAL v Uil vag s3di R )

(B) Adl 514 sl i euld 3. AU AR WA AR A D
(©) ey oial ARG USI AL (hierarchical) & -

@) aisdlgla Med siuzud

—1I | 7 | PTO.



16. List I refers to views of scholars on meanings of power. List II refers to names
of scholars associated with these views. Match List I and List II by using
the codes given below these lists. , :

List I ' List II ' |
(a) Ability of community (1) Hannah Arendt ‘1
to achieve its purposes
() It is not just ability to act but (2) S. Lukes
- to act in concert : ‘ |
(¢ It is a matter of getting people (3) Talcot Parsons
to do what they"would otherwise '
' not done
| ' (d) Power is exercised over people (4) Robert Dahl
.- whenever their interests are ignored
Codes :

§ (a) () (@ d
| (A) @ . O »m - @
(B) (4 (2 (3) (1)
© @ 6)) 4) (2) |

o, @ o Q 6 : )
o Sl (1) % e vl 00 dais Qe 8. wel () W oww Qe wd -,

dsnudal Qusiy -l &, wdlaill 02 2udar sisl Guia 530 el (1)
wa () A Aadl : -
| el 10 . el 2
@ Yl ded wyedl ddrl () el wus
gl Rig sl ulkd 3
adcll o
® Q w s sl aBdd Adl @) . Qs
Yo yyeui st srall
i suld 8 .
© dlsl % 51 5 QUIR A sdl (3) 212 WA
d s s Qi dHR s R
(@ uriil Guaial c addl AR (4) U Sled
o1y Al (Bl a2l ua | |
dusdl WA st sddHl wd, .
gl od QiR U elteidsil |

v« Sid

sis |

(®) ® (© (d -
A) 2 (3 aQ 4) ‘
®B (€Y (2 3 ® |
© @ o @ 2 . |
O @ @ @ (3 ' '
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17.  Which of the following cannot be considered as an agency for wider popular
participation ?

(A) Political Parties (B) Pressure Groups
(C) Referendum and Initiative D) Censorship of Press |
13 eafddl izenvixizl 5§ e disedflelx] aai -l e cn.'l?s audl
o asiy ? | ,
(A) A5 sl 3 (B) &loL ol
(© dlsyusl A GusH ®) adaiusti-dl A=y
18. S. E. Finer’s work ‘Anonymous Empire’ is a work on :

N (A) Political Parties. (B) Pressure Groups

' (C) dJudiciary | (D) Bureaucracy
ARG, 161 Yeds WA AR’ syl [Qvuq adg & 7
(A) UASU wal (B) eloL ol
(C) ~dludat , @) wuasiRwdl

19. Which among the following organization does not play a role in protecting -
and promoting of human rights ? |

(A) ‘Amnesty International’
(B) ‘Green Peace’ ’
(C) ‘International Monetary Fund’
(D) ‘National Human Rights Commission’ ,
(3 salddl deniixizl ssS AL Ui sl 8 v Qs sral viudl
"d] ?
Q) ‘AN Sreune’
@ ‘Sl Y’
(€ ‘Sreruda WAl 8’
D) ‘Aurd &He S sHlux’
20. Who is the author of ‘Elites and Society’ ?

(A) T. Bottomore | (B) C. Wright Mills
(C) A. Giddens } (D) B. Moore
‘Aeflen Ars A’ ";Q,Qdfs"l.l Auvis s § ?

@ 4. oM @B) Al. yde e
© . s @) ofl. ¥
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"~ 21.  Which of the followmg features of the Indxan Constitution is borrowed from

Britain ?

(A) Directive Principles of State Policy

(B) Federal Structure . | 1

(C) The System of Judicial Review '

(D) The Cabinet Form of Government

DA-uiell curdly viwrad s aan Bied wddl Ag & ?

@A) Uwuu ARsds Reidl

B) uudAl nay

© ~als wflaudl na o y
O 3Bz na 4

22.  The riots of Mumbai during December 1992 and January 1993 were mqulred
into by : : 7
A) Srikrishna Commission (B) Mandal Commission
(C) Verma Commission (D) Jain Commission
BAIR e v Ayaull 1ee3 A gbuvau il duIRL SR
c @) sl sBhun (B) usd s@aun E
- © adl shan O) % sBa-
23. The elections of Panchayatiraj Institutions are decided by :
(A) The District Magistrate (B) Constitutional Mandate
(C) The State Government (D) The State Election Commlssion
yudl e Al Yeell=l RallRd suR :
(A) el AW ®) claiefly
(©) UFL ASIR : @) Uy Yell sMun

24. The Governor can issue ordinances : : .
(A) Only in case of breakdown of Constitutional Machinery in the state
(B) Only when the Chief Minister asks him to do so |
(C) When the assembly is not in session
(D) Only after taking formal approval of the President
- oaddR qags%u o8l WS AU ¢ .
A) wuAl ey da ™isll u.sg Sld
B) Heaio{ll uey €in
€) ReaAeud AL Adg L sin
@) Uula-l n@vfl w4

PoLSe—I 10
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25. Which is not the pressure group in Indian Politics among the following ?
(A) Chambers of Commerce and Industry
(B) All India Trade Union Congress
(C) All India Kisan Sabha
D) Lions Clubs of India :
oudly sl RaRPanil 2 o ooy 4l ?
@A) R s sHd Ars Sl
@) e Slsul 25 yMuq sisly
© e SFsul B uou
@ Au sao g Shsul
26. Of the following, in which state the CPM has not been greatly popular ?

(A) Tripura . (B) Andhra’ Pradesh
(C) Kerala (D) West Bengal
Retlafiidl s i A2 W vl qdl 7
@) Byt ; (B) ¥ig U2y

(C) R4 | @) By eiduyn

27. The Parliament can make laws in respect of Jammu and Kashmir :
(A) Only on subjects in the concurrent list |
(B) Only on subjects in the Union List
(C) On those matters in the"’Union;list as well as concurrent list in corisul-
tation with the Government of the State
(D) On subjects included in all the three lists
oy 519l Aeelul dAue sueivil usl w4 R
(A) M wéu [yl el |
B 3dlu Wl [QAnyl ¢ln
(©) ¥elld A sl wigl 200 Ao wd Rar [ud s34
@ QU welbini dac (vl i |

Pol. Se1I . 1 .~ PTO.



28.

29.

30.

31.

~ Which one of the following cases is not included within the original juris-

diction of the Supreme Court of India ?

(A) Any dispute between the Government of India and one or more States

(B) . Any dispute between the Government of India and any state or states
on the one side and one or more other states on the other

(C) Any dispute between two or more states ’

(D) Any dispute between a citizen of India and a State

[Rafafianiel sut sl eudul g&n&é«u Yo udnl st el ?

(A) HURd AW AR A § qy AR a2 [Qae .

(B) GURCL AR ML AN A% F A%AL 25 Y& 2 s 3 ag ul
oflog ua

(© A3} ag el a2 Rae

D) SURdrl ALURS A AN a2l [Qae
With which political party the phrase “Umbrella Party” is associated ?

(A) B.J.P. (B) Janta Party ,
(C) Congress (D) Bahujan Samaj Party
“uaglal YIEl? e MAIL SUL ALY e W2 auda © ?

@A ozl - ‘ (B) %idl ua

©) S | D) ogx wuy Wl

In case of disagreement between the two houses of the Parliament over a
bill, the issue is resolved through :

(A) President’s intervention

(B) Speaker’s mediation

(C) Vice-President’s intervention

(D) Joint meeting of the Parhament of both the houses

S vSL BUR Ave-l A odl 9 WAU@ Goll w di A Rusw
() Wnlardl e32(10e

®) Wl wezeflefl

© Guargulardl ex2u-2(11e]l

D) AU~ o~ Il AYsd Ass gl

Who is regarded as Father of Public Administration ?

~ (A) L. D. White (B) F. W. Riggs

" (C) Woodrow Wilson D) Goodnow
e adlazt Rt d3 Sl Qe iy & 7 ,
A) 24.8l. wife , (B) As.soiey. Ao
©) a8l R @) s+l
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32.

33.

34.

Match L1st I with Llst II and select the correct answer by using the codes
given below :

List 1 o - List II
(a) L. D. White 1) Ecology of Public Administration
(b) Willoughby (2) Introduction to the study of Public
(¢0 H. A. Simon Administration
(d F. W. Riggs : (3) Principles of Public Administration
. (4) Administrative Behaviour

Codes : . . ‘

(a) () © - (@
&) 1 @ (3 4)
B) ) 6)) @ (¢}
©) 4) 3 o @
®) 3 @ (2)

zua (1) Ui Jeals Quisiil Uy Qv . Wigl %2) Hi du-tl mmt UMl
Q. oinl widlatidl NA 2when sisA 2w wel (1) 24 (R) 1 Aqqi :

S el 1 yiel 2
(a) A48l wife %)) ‘53‘1@11@ Blls uec-[ls sfilgan’
®) [Qdlell @ syt g el 215 vodls
© RNA2. WA | -ﬁs vﬂziam R
d) xA5.Soley,. vﬂaa 3 urre{hﬁé s wodls
‘ A’
@ ‘Asl-llagdla Biddlmz’
sis |
o (a) ) - © (d
-(A) ) () 3 @
@ @ 3 @ oy
(C) 4 )] (V) (2)
D) ® @) @ oy
‘Who is associated with the theory of ‘Decision-making’ in Pubhc
~ Administration ? »
(A) F. W. Taylor : (B) Lewis Marrium
(C) H. A. Simon _ (D) R. A. Dahl
ez adlazni ‘Felu WG ) Roeudrt 08 s disudd @ ?
S (A) Ws.suey. 264 B dla Aum -
() WA WS . (D) R.A. Ssid
The idea of ‘Gangplank’ is associated with the principle of :
(A) Hierarchy , - (B) Leadership.
(C) Unity of Command ) Span of Control
- vondrs’ Al [Qeuart su Reid wd qAsnddl & ?
a) 2Allgu B) 2l
(© ueurll AAsdl D) iy Abu
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35.

Which statement is not correct in the followmg ?

- (A) Public Corporations are legal and art1ﬁc1al bodies.

(C) Public Corporatlons are controlled by the Government in general pohcy'

36.

37.

(B) Public Corporations are autonomous in their day to day affairs,

mattiers.

(D) Public Corporations are autonomous and therefore cannot be controlled
by the Government. - ,

Fmtaﬁstctm dl sy [Qun g el ?

(A) A8 31‘@%2&['1 sueisly 2 sl Al B

(B) A& sy w-t AUAL -6l _opoiding @dA &

(©) Q{l“ll'*-l [Anus GLLOMHL %nd !sl‘{TQ.QN ASIR gl l»lg[\ld 8

D) A8 sme—t WA B 2 qdl A2 gL viglid - A4S ud

‘Ombudsman’ is a feature of Public Administration in :

(A) Scandinavian Countries (B) Commonwealth Countries
(C& North -American Countries ican Countneg‘
R adlqeni a»uwts::sﬂrt v{l e v{1°1 euldd gt Aiell P vq,u-{l

g ysuda o ?
(A) Wl %amu (B) $iHrdey alini
(©) U 2[5 euini ®) ulds+ sl

" ‘New despotism’ has emerged in Public Administration according to Lord

Hewart. This statement indicates :

(A) The g_rowmg powers of the State -

(B) The growing powers of Bureaucracy

" (C) The dechmng role of Bureaucracy

euld 9 3

(Di The growing épowers of the state and government both
2 adlgeui al

(A) wesadl vt adl ¢l 8
(B) wHaelr{l At qfﬂ Wl 8
©) wndeRiAl ojfs wdl dl &

D) AUFY i AISIR ol Al qeﬂ Wl &

38.

©39.

‘Whitley Councils’ are the feature of :

(A) Indian Administration (B) American Administration
(C) Swiss Administration (D) British Administration
‘edlod] siG=llen’ sul taril adlaeq da@ © :
@) eudld adlged ® w25 adlaeyd
©) ey adlaeq , @) By adlaeq
The ‘Budget’ is formulated in the U.S.A, by :
- (A) The Finance Ministry (B) The President of U.S.A.
- (Cﬁ The treasury (D) The Bureau of the Budget
Rsii el quir s 8 : |
@A) -uai uead B iR MYt
© 3 S @ YRl vy ee
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40. In the following two statements, (A) refers to an assertion and (R) refers to
reason or justification for (A). State by using the codes given below whether
(A) and (R) are correct or not and state whether (R) is the reason for (A)
or not. : ‘
Assertion (A) : The civil service is a professional body of officials, perma-
nent, paid and skilled.
Reason (R) : It does not include persons of military service or judicial
service. S
Codes : ‘ ) ,
(A) Both (A) and (R) are true and (R) is a correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A
(©) (A) is true but (R) is false ; -
D). (R) is true but (A) is false N ~
03 2udal o [@Qarini 218 Qe s g2 sawlRd s 2udl 8 @A),
oflog [Qeurt (R) 3l 20 42ril 3rll s18- Gedvy s, il 8. [Qeu-isl
A e sisHl Guaidt s . Qadl WAL S 3 viel 24 (R) 2 (A)
Wed 519 8 3 dl d al ¢ | A :
Rded (A) :  Arel Al sll, WURER A slaey aadt adladl
| A@HIoA] Aauell ot 8. R
s{w ®R) :  ddi a4l RNA 2 2nuyyfdatiql wnde ydl -l
&8 ; : .
A) (A) 21 (R) ol WA B Al (R) A) 4 s1_ &
B) (A) i (R) 6l ALY A (R) (A) 4 s@ 2l
© AWE U ®UWEY -
@) (R) AL & Y2 (A) g &
41. Which of the following theories or models of international politics does not
emphasize the role of state as an actor in international politics ?
(A) Realism (B) Neo-realism
(C) Interdependence and pluralist (D)\ De\pen\dency . , :
widR AU s~ A sulden Rigidl 3 mém«&tzﬂ sl Rigia &lidg}ﬁ!;ﬂ‘l
ApsRRAUL UL sdl 5 vesR dAsHl ogfsid Hea hudl gl
@) aElale § ardqale B) -auaEas
(C) MRARUAEOI il olgcqdle D) YRlqdoeit
42. Which of the following statements about national interest is not correct ?
(A) 1t is a basis for formulation of a state’s foreign policy
(B) It is only the ruler’s personal interest which has always been the basis
of formulation of state’s foreign policy
© Ii‘ is difficult to define objectively and in all cases the national interest
of a state '
(D) Statesmen formulate foreign policies on the basis of changing conceptions
of national interest from time to time
ANA (Ret i3+ Al Qeuniniell s34 Wy Al ?
@ wwu-dll Qra-dlla asd-dl d 2w 5wyl 8 .
@) vApa-ll [Qea-llla ¢dai A viad Bad 20 asidl siv 8
(C) U 3%4 (Rcrfl argaall glfe w1 sien 30U cpva siud] Yaba 8
@) Uy [Qeadlldg asd Wdla Ra-u oledidl vaid Yoo, 53 8
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43.

44,

4 ss »:

Which of the following objective is not served by nuclear weapons ?

(A) Deterrence (B) Defence

(C) Prestige ) Retaliation against an enemy
wggamw[l 02 culdamill sy &g Rig atcft 4l ?

(A) UAWRU 2USUYPA sl (B) Wil

(© ularsl »qraaini D) VI WA oeal Aardl

In List I are mentioned the names of statesmen or scholars. Their quotations
and views on certain issues are mentioned in List II. Match List I and List
II by using codes given below the lists.

List I : List II
(a) Woodrow Wilson ' (1) ‘Safety will be the sturdy child of
(b) Hugo Grotius terror’
“ (¢) Winston Churchil . (2) ‘War is a continuation of politics
(d) Clauswitz by other means’

(3) ‘There is a society of states, a group
of actors who regulate their

relations’
(4) ‘Open covenants openly arnved at’

Codes :.

@ (b © (d)
Aa) ¢y 2 3 @)
® @ m @
S o 8 ‘
Y1el ((1 ui A gtug EFRINT -mué» RN laauu 5 anel sdal l?teu-u |
( R) i euldd O, wélal el wuadi sish el wel (1) A wel
? aa : ,

ylel 1 ylel 2

@ 98t [ (1) mmc[l B oL Acit aly
(®) &L WRuA | %m
© (e allg ) % w&stz@ﬁ g Wl
) 3@135[&335 A4 o eyld 9, HisL oflt

amvu-u Gtmm%ﬂ

(3) UAAIAL U As AY Y F™
~3di3;% Ulcir{l A am&v'-t RLLBm
5

@) Sstez SUA ¥ vieell u[%auaﬂ s

(a) ) © (d)
(A4 (1)  (2) 3 4
B) 4 » 3 2).
© .. @ - @ (1) 3)

® @ .’ M e
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45.

46.

47.

Which of the following events created demand for free trade among developed
countries ?

(A) First World War

(B)- Great Depression of 1929

(C) Second World War

(D) Demand for New International Economlc Order in 1974

[AsRd il Ysd cuw+l qidwella 56 qe-il o= s ?

A) nax [a=qayg

B) 1 -l ¥4l S -

©) [dlu [arayg . '

D) 19y -l Alaui sl vuddl Adl vid dld 2ulls el wiawgll
Insurgency is facilitated in a country by which of the followmg factors. Give
your answer by using codes below the factors :

(1) arms supply

(2) support of a sympathetlc neighbour

(3) direct military support by other country

(4) presence of a homogeneous society in a country facing 1nsurgency
Codes

(A) 1, 3 and 4 B) 3 and 4 -

(C) 2, 3 and 4 D) 1 and 2

A5 sani Ael adl S=uzoell (Insurgency) ~{l qe-ud su WRowmidl ést
a8 7 yRoaidl 1A culda sisA 2w Ga 2wl :

(1) W yasil ues

@) Sl é&l U ustgey ealadl wsial 2o

@) ol 2 g Al @il a 5 ee(lR]

(gl) Srarfl Al UM AUl AU WUl el

518 ¢ .

A) 1, 3 w4 4 | B) 3 i 4

(©€) 2, 3 A 4 ®) 1 24 2

The declaration of New Internatmnal Economic Order (NIEO) did not include
demands relating to :

(A) Commodity prices -

(B) Control of multi-national corporations

(C) Transfer of technology ,

(D) Revolutionary transformation of World Economy

‘aefl i AN 208 UL’ (NIEQ) +{l qiseudl (1A woellatl 44l 5
Horefl-i ALY l SAML Al A edl ? -

@A) Awagau-l BEud

B oAU sidlasdl ya-i vgu

S (C) 2sldlmd ddid@

) Qs wIcqqm-[l st[ém%‘l sua2
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48.

49.

50.

The author of the book ‘The Anarchical Society’ is :

(A) Martin Wight : (B) Barry Buzan
(C) Kenneth Waltz | @) Hedley Bull
‘@ A-ulEsa WA Ysi Aus ¢

@) A quSa _, - (B) A3 o+
(© 37 dieen @) &sdl ya

For developing countries World Trade Organization (WTO) is a clear

improvement over Géneral Agreement on Tariffs and Trade (GATT) in view
of the introduction of :

- (A) Jdoint Consultative Mechanism (B) Peaceful Reséluﬁon of Disputes

(C) Dispute Settlement Mechanism (D) Preferential Voting System

Masudl eul w2, R R Wosd (WTO). 2 o-2d ABA2 i 2Rsu

i, ;s (GATT) 53l At W Ads o B 3 3, Al (A euldd) 5§
RAUAAL WAy Ul B ?

(4) AYsd AAHUAA Weq WAy (B) FusAl dilomy G3a awadl
(€ HuSAD udiae MR WAy ©) AsITud Hdewsll e
Realism, as a school of thought in international relations involves :

- (A) a conviction that international relations are necessarily co-operative and

it is natural for states to cooperate among themselves
(B) a conviction that international relations are governed by mternatlonal
laws that guide the behaviour of states

- (C) a conviction that international relations are shaped by principles and

norms that guide the policies of sovereign states

(D) a conviction that international relations are necessarily conflictual and
that international conflicts are ultimately resolved by war

i Y AU “AiRdaais’ As l?mmuou (school of thought) a3 Aui

Al Ayt AR 2 B ¢

@) Bl wrudl 3 Aid A Aoigl uFtcutI 2‘1& ASSIAUMS O 2»1& UYL
YAWR USSR WA A ends @

B) Adl Hruct 3 wdoiln ?.l%"-llfﬂ Aatia woledds May i AU man:u
Gl Bid AN Asiald Auad a8

©) Adl wrucl 3 ol il AR wolesds Aal [itatc& RN

gl AidUNNY Aeigl asiy @

®) Al Wt 3 wcnw;lq dolal RN aem[m Y u& idAY, -

Al Rae 2um 4o it wy 8
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